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2544 4

Complete the following calculation:

Go onto the next slide to see the division process for 
this calculation.

https://www.regentstudies.com


Write 6 above the 4 and there is your final answer!How many 4s are there in 24?Now drop down the 4.What is 14 minus 12?Write 3 above the 4 and 12 below the 14.How many 4s are there in 14?Now drop down the 4.What is 25 minus 24?

2 4

Write 6 above the 5 and write 24 below the 25.Let’s start by dividing 25 by 4 as 2 is not divisible by 4.
You can't divide 25 exactly by 4, but you can divide 24 by 4.

How many 4s are there in 24?
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2125 5

Complete the following calculation:

Go onto the next slide to see the division process for 
this calculation.
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Write 5 above the 5 and there is your final answer!How many 5s are there in 25?Now drop down the 5.What is 12 minus 10?Write 2 above the 2 and 10 below the 12.How many 5s are there in 12?Now drop down the 2.What is 21 minus 20?

2 0

Write 4 above the 1 and write 20 below the 21.Let’s start by dividing 21 by 5 as 2 is not divisible by 5How many 5s are there in 21?

1
4

2 2
2

5
5

1

2

1 0
2

5

2 5

5

https://www.regentstudies.com


4712 8

Complete the following calculation:

Go onto the next slide to see the division process for 
this calculation.
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21

Write 9 above the 2 and there is your final answer!How many 8s are there in 72?Now drop down the 2.What is 71 minus 64?Write 8 above the 1 and 64 below the 71.How many 8s are there in 71?Now drop down the 1.What is 47 minus 40?

4 0

Write 5 above the 7 and write 40 below the 47.How many 8s are there in 47?Let’s start by dividing 47 by 8 as 4 is not divisible by 8.
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4005 9

Go onto the next slide to see the division process for 
this calculation.

Complete the following calculation:
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Write 5 above the 5 and there is your final answer!How many 9s are there in 45?Now drop down the 5.What is 40 minus 36?Write 4 above the 0 and 36 below the 40.How many 9s are there in 40?Now drop down the 0.What is 40 minus 36?

3 6

Write 4 above the 0 and write 36 below the 40.Let’s start by dividing 40 by 9 as 4 is not divisible by 9How many 9s are there in 40?
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